WEDERKREI)=VIHRE—E

HY=yY LEBE 25+8 25+VI0 25+8E+VIO
ISFNII=vY 68,000M 129,000M 68,000M 129,000M
CRAT) =y — 67,800M — 133,800M
VEII=vH 64,800M 70,400MH 90,400MH 129,800M
il 6[al:77,400M — — 6[8]: 155,700M
TCBRIREHAREEINF 198,000H 298,000HM 298,000H 389,000H
Lo—30=vy 205,000M 294,500H 280,250H 360,000M
LRIy 207,900 - 300,300H 405,900H
T5090)=v - — 75,900M 218,900H
HBIEET)=vy 1[5]:19,800M 1[a]: 26,800M 1[8]: 29,600H 1[a]: 36,600M
BELXRBV)=Y 347,600 — 422,400M -
toha—XY) =9y 297,000 404,690M 394,900H 502,590
BLBEEAHIZYY 348,700M 458,700M 471,900M 581,900
FIERESED) =YY 6[E:774,075M — 6/a]:835,186M -
HAEBIH g — — —
GNIES-F/ LHBELL - — -




REEBNE 347,600M — - 518,100M
WahRIV=vy EHBRELGL - — —
B =v EHBELGL - — —
WETAZY=vY 275,000MH 308,000M 308,000M 330,000M
CEDRBERZyOIE EHBRELGL — — —
XBAH B R
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